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QUESTION 1

In which step in the visualization lifecycle would you determine how the raw data is stored?
A. Visualization Planning

B. Data Preparation

C. Visualization Building

D. Discovery

Correct Answer: B

QUESTION 2

Which scenario would be ideal for processing Hadoop data with Hive?
A. Structured data, real-time processing

B. Unstructured data; batch processing

C. Unstructured data; real-time processing

D. Structured data; batch processing

Correct Answer: B

QUESTION 3
What is a characteristic of stop words?
A. Used in term frequency analysis

B. Include words such as "a", "an", and "the"
C. Meaningful words requiring a parser to stop and examine them
D. Don\\'t occur often in text

Correct Answer: B

QUESTION 4

A hotel chain runs a simul-ation on room pricing. They want to estimate revenue, per hotel, within +/- $10 with 95%
confidence (Za/2=1.96). The estimated revenue standard deviation is $5000 based on previous booking data.

What is the optimal number of simulation trials to run?
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A. A 32-bit operating system was used

B. The same number of trials was used

C. A linear congruential generator (LCG) was used (or pseudo-random number generation
D. Different seeds tor the random number generator were used.

Correct Answer: C

QUESTION 5

What elements are needed to determine the time complexity of finding all the cliques of size k in social network
analysis?

A. Eigenvector centrality and betwenness

B. Clique size and total number of nodes in the network

C. Number of edges in the network and centrality measure of the cliques
D. Clique size and betweenness centrality

Correct Answer: B
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